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ÁÒ«fiÎ — (1) ⁄‘Î ≠ffi˘fiÎ √HÎ Áfl¬Î »ı.

(2) Â@› Ë˘› I›Î_ ±Î¿ÚÏ÷ ÁÎ◊ı …‰Î⁄ ±Î’˘.

1 l‹fi_ ±◊˝ÂÎjÎfi˘ ±◊˝ ±fiı T›Î’ Á‹Ω‰˘. ÷ıfi˘ ±·√ ±P›ÎÁ ÂÎ ‹ÎÀı …wflÌ »ı ?

÷ı l‹⁄ΩflfiÌ ·ÎZÎÏHÎ@÷Î±˘fiÎ Á_ÿ¤˝‹Î_ V’WÀ ¿fl˘.

±◊‰Î

1 ¤Îfl÷‹Î_ l‹Â„@÷ (Labour Force) fiÌ Ï‰ÏÂWÀ ·ÎZÎÏHÎ@÷Î±˘fiÌ ««Î˝ ¿fl˘.

Á‹›ÎL÷flfiı ÁÎ◊ı Â_ ±Î ·ÎZÎÏHÎ@÷Î±˘‹Î_ fi˘Ó‘’ÎhÎ ŒıflŒÎfl˘ ◊Î› »ı ÷ı …HÎÎ‰˘.

2 ““¤Îfl÷‹Î_ ⁄ıfl˘…√ÎflÌfiÌ Á‹V›Îfi_ V‰w’ Ï‰¿ÏÁ÷ ÿıÂ˘fiÌ ⁄ıfl˘…√ÎflÌfiÌ Á‹V›Î ¿fl÷Î_

±·√ ≠¿Îflfi_ »ı.”” ñ ¤Îfl÷‹Î_ ⁄ıfl˘…√ÎflÌfiÎ ¿ÎflHÎ˘ ÷◊Î ≠¿Îfl˘fiÎ Á_ÿ¤˝‹Î_ ±Î Ï‰‘Îfifiı

‹Ò·‰˘.

±◊‰Î

2 ‰ı÷fi ÷ŒÎ‰÷˘ ±ıÀ·ı Â_ ? ÷‹ÎflÌ º„WÀ±ı ‰ı÷fifiÎ Ï‰Ï‰‘ ÷ŒÎ‰÷˘fiÌ ±˙z˘Ï√¿ Ï‰¿ÎÁfiÌ

º„WÀ±ı ›◊Î◊˝÷Î ±fiı ±√I›÷ «« ˝̆.

3 fiÌ«ıfiÎ‹Î_◊Ì ¿˘¥ ’HÎ ⁄ ı ’fl À>_¿fi˘Ó‘ ·¬˘ —

(±) l‹fiÌ µI’Îÿ¿÷Î

(⁄) flıÂfi·Î¥{ıÂfi

(¿) fl˘…√ÎflÌfi˘ ¿ı¥LÁfi˘ ÏÁ©Î_÷

(Õ) √˛ÎË¿ ÁÒ«¿Î_¿fiÌ ‹Î’fifiÌ Á‹V›Î±˘

(¥) ¤Îfl÷‹Î_ l‹ ±Î_¿ÕÎ±˘fiÎ ôÎ˘÷˘
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4 (±) ‹K›¿, ‹K›V◊ ±fiı ⁄Ë·¿fiÎ A›Î·˘ Á‹Ω‰˘.

(⁄) fiÌ«ıfiÌ ‹ÎÏË÷Ì ‹ÎÀı ‹K›¿, ⁄Ë·¿ ±fiı ‹K›V◊fiÌ √HÎ÷flÌ ¿fl˘ —

äõÖÞ w.

lìÜÀùÞí ç_AÝë

bg 100 300 300 500 500 700 700 900 900 1100

70 90 45 23 12

− − − − −

±◊‰Î

4 (±) ≠ÁÎfl‹Îfi ±ıÀ·ı Â_ ? ÷ıfiÎ µ’›˘√˘ ÿÂÎ˝‰˘.

(⁄) fiÌ«ıfiÌ ‹ÎÏË÷Ì ’fl◊Ì ≠‹ÎÏHÎ÷ Ï‰«·fi ±fiı Ï‰«flHÎÎ_¿ Â˘‘˘ —

ÕõÏíÞð_  ÀØ

lìÜÀùÞí ç_AÝëÜë_b g1000 2000 2000 3000 3000 4000 4000 5000 5000 6000

10 25 35 15 5

− − − − −

5 (±) ÁÒ«¿Î_¿ ±ıÀ·ı Â_ ? l‹Ï‰f·ıÊHÎ‹Î_ ±ÎfiÎ µ’›˘√˘ Á‹Ω‰˘.

(⁄) fiÌ«ı ±Î’ı·Ì ‹ÎÏË÷ÌfiÎ ±Î‘Îflı «Î· ‰Ê˝ ‹ÎÀı ÏŒÂfl ÁÒ«¿Î_¿fiÌ √HÎ÷flÌ ¿fl˘ —

‰V÷ ±Î‘Îfl‰Ê˝ 1995 «Î· ‰Ê˝ 2000

Ï¿o‹÷ …J◊˘ Ï¿o‹÷ …J◊˘
    X 10 5 12 7
    Y 5 50 8 40
    Z 120 3 150 3
    R 12 10 10 15

±◊‰Î

5 ±Î_¿ÕÎ¿Ì› ÷’ÎÁ ËÎ◊ ‘fl‰Î‹Î_ …\ÿÎ …\ÿÎ ’√·Î_±˘fi_ ÁÏ‰V÷fl ‰HÎ˝fi ¿fl˘. l‹ ±K››fi˘‹Î_

±Î Ω÷fiÌ ÷’ÎÁ˘fi_ Â_ ‹Ëk‰ »ı ÷ı ’HÎ …HÎÎ‰˘.

ENGLISH VERSION

Instructions : (1) All questions carry equal marks

(2) Give diagrams wherever necessary in your
answers.
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’ıœÌ±˘fiÌ Á_A›Î



1 Describe the meaning and scope of Labour Economics. Why
should Labour Economics be studied as a separate subject ?
Explain with reference to special characteristics of Labour
market.

OR

1 Discuss the special characteristics of India's labour force. State
if there have been changes in these characteristics with change
in time.

2 “Nature of unemployment problem in India is different from
unemployment problem of developed economics.” Discuss this
statement in the light of causes and forms of unemployment in
India.

OR

2 What are wage differentials ? Discuss the different types of wage
differentials with reference to their justification and importance
for industrial development.

3 Write short notes on any two of the following :

(a) Labour productivity

(b) Rationalization

(c) Keynesian theory of employment

(d) Problems in measuring consumer price index

(e) Source of labour statistics in India.

4 (a) Explain the concepts of mean, median and mode.

(b) Calculate mean, mode and median in following data :

Wages Rs. 100 300 300 500 500 700 700 900 900 1100

No.of Workers: 70 90 45 23 12

bg − − − − −

OR
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4 (a) What do you mean by Dispersion ? State its uses.
(b) Calculate Standard Deviation and coefficient of variation in

the following data :

Sizeof firm ( in terms

of No. of Workers)

No. of firms

1000 2000 2000 3000 3000 4000 4000 5000 5000 6000

10 25 35 15 5

− − − − −

5 (a) What is Index Number ? Explain its usefulness in Labour
Analysis.

(b) Calculate Fisher's Index Number for current year on the
basis of following information :

Base Year 1995 Current Year 2000
Commodity Price Quantity Price Quantity
    X 10 5 12 7
    Y 5 50 8 40
    Z 120 3 150 3
    R 12 10 10 15

OR

5 Discuss in detail various steps to be undertaken while conducting
a statistical enquiry. Also state the importance of such enquiries
in Labour Studies.
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